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3. If f is a continuous function defined for all real number x and if the maximum value
of f(x) is 5 and the minimum value of f(x) is —7, then which of the following must

be true?
L. The maximum value of £ (J]) is 5. -
I. The maximum value of l i (x), is 7.
III. The mlmmum valueof f(|x])is0. e .. _
(A) I only (B) I only - (O Iand O only (D) I and 111 only (E)L I and 11T

6. An equation of thelmeung:m to y=x3+3x2+2 atits point of inflection is
(A)}' =4 ~ 6 (B)y—-3x+l C) y=2x+10 (D)'y-Jx-l (E) y=4dx+1
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8. For what value of Xx does the function J(x) = (x - 2)(x - 3P ﬁaveardaﬁvemaxim“?'
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